Welcome to the Greek Islands!

Since graduating from Munich International School you have started a party cruise ship.  You cater to international school graduates with a thorough understanding of bearings and trigonometry!    

Your ship docks at Aghio Oros, from where it begins an island hopping tour.  

Answer the questions below on a separate sheet of paper showing all of your calculations!  Use the Screen Protractor to measure any bearings.
You leave Aghio Oros on a bearing of 173.  

1.  After travelling for 101.7 km you arrive at the northern tip of which island?

After some refreshments you and your crew leave the northern most tip of this island on a bearing of 80.5.  

2.  After travelling for 57.9 km you arrive at the southern tip of which island?

On this island there is the opportunity for your guests to swim, snorkel, eat, play beach volleyball or just relax in the sun.  

When leaving the southern most tip of this island you depart to return to Ashio Oros (which is a distance of 116.4 km).  

3.  What is the bearing that you must follow (assume that any land in your way is not actually in your way, assume that you can hug the coast whenever necessary)? 

On your travel back to Ashio Oros once the land is in sight you can see Mount Athos.  Using a clinometer that you have on board you tell the passengers that the angle of elevation to the top of Mount Athos is 18 degrees, and that you are 6150 meters from the mountain.  

4.  What is the height of Mount Athos?  Be sure to show a sketch and show all working.

5.  Using the distances travelled, draw a sketch of your route and show how you can calculate all the angles in the triangle created by following your route.  

